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Chapter 1 Kinetmatics Quiz 2 (1 mark for each multiple choice question)
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/ 6
1.
To determine the area of cross-section of a metal wire, a student measures its diameter and obtains a value of 0.40 mm, subject to an error of 
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0.02 mm. Which of the following is the most appropriate way of expression the result ?



A.
0.1
[image: image2.wmf]±

0.006 mm2




B.
0.1
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0.012 mm2



C.
0.13
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0.0063 mm2



D.
0.13
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0.013 mm2
2.
Projectiles X and Y are launched simultaneously from the top of a cliff. X is launched horizontally with speed 10 m/s, and Y is launched at an angle of 30∘above the horizontal with speed 20 m/s. (The motion of both X and Y is in the same plane.) Which of the following statements is/are correct ?

(1)
X and Y travel equal vertical distances in equal times.

(2)
X and Y travel equal horizontal distances in equal times.


(3)
X and Y never meet.


A.
(1) only



B.
(3) only


C.
(1) and (2) only


D.
(2) and (3) only

3.
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A sphere is projected downwards from A with speed of 20 m/s at an angle of 30∘to the horizontal. The sphere rebounds from the ground, first at B and then at C. If the collisions are perfectly elastic, the horizontal distance BC is equal to 




A.
15 m.


B.
23 m.




C.
69 m.


D.
300 m.

(Structural question)

4.
An object is thrown horizontally from the top of a cliff at a speed u. If the gravitational acceleration is g, find an expression for the speed of the object, v, after time t in terms of u, g and t.
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1 – 3 : DBC,

4.
v = 
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